
Check your understanding: 
 Questions 

Complete each sentence: 

1 3#  of 15 =

1 5# 	of 40 =

1 6#  of 24 =

Draw three bar models, one to represent each of these fraction problems. 

1 3#  of 24

1 8#  of 24

1 5#  of 30
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Check your understanding:  
Answers

Complete each sentence: 
1 3#  of 15 =  5

1 5# 	of 40 =  8

1 6#  of 24 =  4

Draw three bar models, one to represent each of these fraction problems.  A common error is to write the 
denominator number rather than the fractional amount in the bar model cells. 

1 3#  of 24  = 8

24 

8 8 8 

1 8#  of 24  = 3

24 

3 3 3 3 3 3 3 3 

1 5#  of 30  = 6

30 

6 6 6 6 6 
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